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Intro

Today we will 7"pa learn 1”0 97 of P2 noon
Some of the topics we will learn about include.

A continuation of the Mishnah'’s cases in which multiple
people testify to the 72°n> and v nm.

The Machlokes x»j Xin and 7777 *21 regarding

N2 1101 DN DI

DNN1 192 AN ORI

If two people testify to the 72°1n3, but only one person
testifies to the > nm.

The two versions of j3nv '27 of whether the Mishnah refers
only to

DIV T DNND RYY V37 PRY

Cases in which only one person was the husband’s m5v,
while the others were not his 5w,

OR

DIPIW T ORI RIP V110K

Even to cases in which both people were the husband’s
v

The Machlokes 727 and X171 regarding

DNNI 3921 2N21°191 IMRY IR D’ NIPTND VI RIADD
Whether this was initiated because

anwh PRI PRY 195

In o5 N1 they are not aware that a Gett must be written
specifically for the husband and wife.

OR because
WS DMRD DTV PRY 0
o7y are NOT at hand to validate the Gett

And the distinction regarding

D7 NYTHH V) INITV DY

Two oS>w who bring a Gett 01 Ny 711, must they
confirm bnn3 192120237192 or NOT.

DMXN DOTY PRY
MNP

DafHachaim.org

When multiple people testify to
the N2°N> and NN NN

J)/’)/ﬁ/ﬂ/
221112192 DINIR DY
0NN 7192 IR TR

R¥1? VI PRY
ON”W 7 ANNN

The Machlokes mn and xn
regarding
00 N1PTNP VA RPN
21121 7192 MIRMY PIN
0NN %102
tiop) DY

PR PRY

mmwH

V1 IR2NY D2]Y
D) NPT
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. So let'sreview ...

The previous Mishnah first discussed cases in which one
5w did NOT testify to both, the complete nn> and

Three cases where multiple people testify

complete > nm. to the N2XND and NMNN

The Mishnah then proceeds with three cases in which

multiple people testify to the 72°n> and n nn. 3 2 1

1.

2N33°392 MR TAR W It PIMIE /yé WL It
oo SND1DS  SNSIWNBI  3N3IND
Ifone (liperson testiﬁ;s thialt hﬁ saw onl}; th;:1 nm, anﬁ aG PIME fyé/ W It/ WL InE/
second person testifies that he saw only the jm>»nn, the Gett

is disqu‘;“ﬁed‘ Y (=} glghRhihim} =lalghRhim] (=l glghihim]
2 W pllal> pdl=5)
ANDIIPIDA DIMIR DIV

DN 192 IR TR D3/’ P

509

W AT AN PN

If two people testify to the 72°n3, but only one person
testifies to the > nn, the X»p Rin holds that the Gett is
509, while i 117 disagrees and holds that the Gett is
W2,
3.
2N23 391 MR TR
DNNI NI DIMIR DIV

o
If one person testifies to the 72'n>, but two people testify
to the >0, even the X»p Nin agrees that the Gett is 7w>.
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The Gemara mentions two versions of 1371’17 in
explanation of these cases:

1.

13N 17 says

DIPIW T NINTI RXY VI PRY ROR W KD

DIV T INDD REP 01 YR

Ww>

The Mishnah only refers to cases in which only one
person was the 5w, while the others were not a m5w.

However, if two people were both the husband’s 5w, then

in all three cases the Gett is 7w, because

D7 NYTHN VI INTW DIV I20P

DN 1°302) AN23 1301 1IDRW PIIN PR

As Rashi explains, 1317 17 concurs with X171 who holds
that the Chachamim initiated that one 5w must be 07m»,
validate, the Gett, and confirm his presence during 721>
and n»'nn, because

WIPH DMBH DY PRY 0

Witnesses are not always available to validate the Gett.
However, two 5w do not need to confirm the n2’n> and
>nn, and even if they did not say anything the Gett is
2w), because

WP PR 0TV N

These o7 can validate the Gett.

Rashi points out that

IMRITW DY, two people bringing a vy, is generally
understood as

DIV T DNNN RIY V7

Both are o'mbw, messengers; where we do NOT require
DIN3 °393 N3 °392

But we could also have a case where two people are
bringing a Gett, and yet it is considered as

DIPIW T DNNH RIY VT PR

when only one of them acts as a m>w;

where we would require him to say

DN 3932037393

Although one might ask: Why?

In this case too

WP PR 0TV N

These o7y can validate the Gett.

Rashi answers:

PP R2D DWIR NN 0P R P2 127 09O RS

R R ROT

1 IR PWOND NN 0N

7 ORIPVY

People know that there is only one 5w, and they do not
pay attention to the others. Therefore, if we accept the 03
without onn3 191 2051 102 where others came along, they
will accept a L3 even where the bW comes alone.
However,

RN DWW

N7 RMOW RO RAIMT RNOD

1329 72 TMAR RN

Two 5w are obvious and uncommon, and will not be
confused with where there is one m>w.

Dedicated By:

DafHachaim.org

Two versions of ]aN 127 in explanation of these cases

1
\//)/’ i~y
A y)
DI YT AMNNE RYY BT PN NON
AMAR T AR MY By HaN
W

Iftwo people were both the husband’s T"bw
then in all three cases the Gett is MWD

Q%7 NI 1 N2 DY 20p
2NN 152 2N21 WA YMN P2X N

Ay Rashic explaing. ..
Yo ) concury withs £ who holdy
W) pridp pr3y pit of
However, withy two /a'/)'é even z% f/ze?/ don't say
anything the Gett s\, because
/,1//7)//”/3’,«/ PRy D

OHISOE ONE
HIY YO PO HIY VIO
DONE 170 DNDY  DINE Y70 HOOHN
Z% owf?/ one iy w /)/é % both are /of/)'ﬁ
he M//Wé/ t say

RV JOR RN P

2
Why WYND PNIH D7V IO
790 H35 OEID HN3N DY P33 P3 1959 NOD PO

HH5N HHoW H57
Of DH IMED O HO PESOS PH3 oM

OO OVEED
H% PMOE BN HHOMN7 HHOH
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. Now, according to this first version of 1377 °217, the
Mishnah, referring to one 5w, is understood as follows: According to this version of ]JNN 127
In the first case the Mishnah, referring to one bW, therefore..
211537392 IR TR
DNM3 392 IR TR 3 2 1
The Gett is %109, because, as Rashi explains;
MNP DS 1337 MR HwHT Wi It PIIE Pyl W It
The X1 that one person can validate the 03 was initiated S5 Y15 M98 430 S5 Y15
ly for the mbw’s testi , and only when he testifies t
ggti or the s testimony, and only when he testifies to /°’7/‘//»4’/y€/ W 30k W 30y
DRI 2393 2193 1193 (=} aighRhjhiin] Qnnml 152 Qnnl 153
But here, the 5w testifies to only one of them. wa ‘7105 5105
And in the second case
AN2111I0I DR DIV 23 LWA//”)’(‘ PoED7
DIN3 *392 TN TANY ol s orlpt/ 1937 DN

The xnp Rin holds that the Gett is 5109, because Since there are ¢ FYP t/‘/&? WDMIND
TR TV RPOYT MITOW DRI 0PIRY ROR RPDT 170 b0 the OYNOH
The rv5w who validated the m»nn did NOT confirm the 0 Pt for The o/ that
: . ; Sy, which i D3/’ P #p that one 5y
120>, and there is concern for confusion, that one 7y will bl \ can vilidite o &
be used to validate other n7vw as well, when in fact two acceptuble ever TN initiatod
o7y are required for mvw orp. ﬁr il w#t Wk i Wj%& 4
the s’y testimony
However if the mbw testifies to both the 7203 and nrnn,
there is NO concern for 015X because regarding Gett the
5w testifies to both n2'n> and m>nn, while for mvw IRY,
. the o7y testify only to the nm»nm.

And

PWID T 2T

777 27 holds the Gett is w3, and there is NO concern for
091K, because in this Gett two 7Y also confirmed the
1202, while for mavw IRw, only the >0 is confirmed.

And in the third case of

2N31°192 IR TR

DNNIIPIOL DIVIN DIV

Even the Xip Rin agrees that the Gett is 9w>, and there is
NO concern for 'm5mx, since there are two o7 for the
>y nn, which is acceptable even for mavw Ixw.
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2.

RIINR RIVD

13N 27 says

5100 OPIW T NANN RIY V3 10K

The Mishnah refers even to cases in which two people
were the husband’s 5w, and even so the Gett is 5109,
because

DA DTN VINIFY DIV 720p

DN IO ANDNIPVID IIVNY PIIR

As the Gemara explains, this version of 377 727 concurs
with 727 who holds that the Chachamim initiated that the
5w must confirm his presence during n2’n3 and > nm,
because

WY PRPA PRY 105

In o nr7» they were not familiar with that a Gett must be
written specifically for the husband and wife. Therefore
even two D'5w must confirm the 72°n> and mynn, and
thereby attest that the Gett was written mmw5.

However, the Mishnah refers to 17mbw x5, after the *12
o7 N became more learned and aware of Wb,
Therefore, in the first two cases;

2N23°392 MR TR

DINN3°392 MR TAR)

And

2N21 17191 DR DIV

DN 2302 IR TARI

The x»p Rin holds that in both cases the Gett is 5109,
because,

IPOPS 92T M KDY 7Y

The 5w must confirm both 721> and m>ynn and attest
that they were each done nnwb, because of a concern that
they will regress and become lax in w5, Therefore, since
here each 5w confirms only one feature, the Gett is 5109.

While

PWIN AN 2T

In both cases the Gett is 7w, because

AR

15w INRY there’s no need to confirm anything, because
there is NO concern for regression.

And in the third case of

2N31°I91 IR TNOR

DNMIPIO1 IR DIV

All, even the Xip Rin, agree that the Gett is 7w, and there
is NO concern for P55 W Xpw, when

72°DD TV T DNNN RXY VITW

5y 0w MYy 0Iws Wit

The one who is saying 10231 °191 is the ">w. Therefore, the
>, who is considered as two 0’7y, confirms the n2'13,
and two other 07y confirm the > nn, there is NO 771,
because there are two o7 for each feature. However
0N 7Y T AN YaR

5109

If the 5w is one of the two who confirm only the > nm,
while another person confirms the n2'n>, the Tanna
Kamma holds that the Gett is :709, because there is only
one 7Y for the n2°n>, in which there IS a 7% for M xow
“P5RS.
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